Trig Applications Review
#1The rodent population varies with the number of predators that inhabit the region. At any time you can predict the

rodent population {r) using the function 7 = 2500+1500 sin(%rj where t is the number of years that have passed

since 1976.
{a) Graph the function for 3 cycles.
(b) What is the period of the function?
(c) In the first cycle of the function, what was the maximum number of rodents and in which year did it occur?

(d) What was the minimum number of rodents and in which year did it occur?

(e) How many rodents would you predict for the year 20147

(f) Determine the average rate of change of the rodent population from the year 2000 to 2007.
(g) Determine the instantaneous rate of change of the rodent population in the year 2008.

#2 A group of students is tracking a friend, John, who is riding a Ferris Wheel. They start tracking his height and see that
John reaches the maximum height of 40 m after 3 sec and reaches a minimum height of 5 m after 25 seconds.
(a) Graph the function for 3 cycles. ' , ' ‘
(b) Determine a sinusoidal function that models John’s height with respect to time. Use two different equations,
one using sine and another using cosine.
(c) Determine John’s height 3 minutes after the students start tracking his height.
(d) Determine John's initial height at the time when the friends start tracking.

#3 A group of students is tracking a friend, John, who is riding a Ferris Wheel. John gets on at the bottom, which is 4 m
off the ground, and they watch John reach a maximum height of 36 m after 12 seconds. John continues to enjoy the
ride, and after 5 times around, he gets off at the bottom.

(a) Graph the function for 3 cycles.

(b) Determine a sinusoidal function that models John’s height with respect to time. Use two different equations,

one using sine and another using cosine.
(c) Determine John's height after 1 minute and 10 seconds. _
(d) John is able to see the falls when he is above 32 m. For each cycle, how long is the falls visible to John?
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EX/J(

A group of students is tracking a fmend J ohn who is r1d1ng 'a Ferris Wheel They know that
John reaches a maximum. height of 40. m after 3 seconds and then reaches the minimum height

" of 5 'm after 25 seconds. [TIPS/9]
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A)  Determine a sinusoidal function that models John’s height with respect to time.
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B) Deterrmne J ohn s height 3 minutes into the ride? Is he rising or falling?
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C) . Determine John’s initial height?
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MPLE 3;

A group ol students is-ir acking a | Jol hn, who is riding a Ferris wheel. John gets on at the
bottom. which is 4 m off the ground. and they watch John reach a maximum height of 36 m
after 12 seconds. John continues 1o enjoy the ride, and after 5 times zuouncl he gets off at the
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A) Determine the equation of two sinusoidal functions (a sine and a cosine function) that model ~

John's height with respect to time.
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B) How high is John after 1 nii‘n and 10 seconds?

e '70 ’ _
CC)S (/ (70% 20 ' i\okr\ S

-

‘8 ] (Q <o gwm@ e O {1t v
- a5

) John is able to see tl Falls when he is above 32 m. F01 each revolution, how long is the Talls
visible? ’
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